uyGar

Elevator & Escalator

KABIN KARKASI MONTAJ & AYAR KILAVUZU
CABIN FRAME INSTALLATION & MAINTENANCE
USER MANUAL

(UK) Assembling and regulation instructions for CABIN FRAME

(D) Montage und Einstellanleitung fiir FAHRKORBGERUST

(IT)  Istruzioni di montaggio e regolazione dele porte di TELAIO DELLA CABINA
(FR)  Manuel d'instruction de montage et reglage des portes CHASSIS DE LA
CABINE D'ASCENSEUR




®

Elevator & Escalator

DIN 6921 - M12 x 25 x 25-N IS0 4017 - M10 x 20-N

ISO 4017 -M12x 25-N 1SO 10642 - M10 X 20 — 20N
i i } Q\’




uysar:

Elevator & Escalator

DIN 6921 - M12 x 25 x 25#‘%%;27

ISO 4017 - M12 x 20-

—
w
| —



uysar:

Elevator & Escalator

4

N

201

1SO 10642 - M10 x 20 ---

ISO 10642 - M10 x 20 ---

ISO 4017 - M10 x 20

ISO 4017 - M10 x 20-N




uysar:

Elevator & Escalator




uysar:

Elevator & Escalator




uysar:

Elevator & Escalator




uysar:

Elevator & Escalator

"

KABIN YUKSEKLIGI

CAR HEIGHT
2320-2520 mm.

y
X

10 mm.

15 mm.

1

1




uysar:

Elevator & Escalator

——
g -1 1
I=
¢ i) w .
i N
(V=]
g8
=3 (1 -
—
o
[x¢]
o~
[}
|_
I
(<]
w
T
3 =
© o
'_
5 B S =5
o A & a8
-4
)
>4
|
N
w
g
S
>
o
[a]
=
22, -
8g
O
7|
A" 1 . i s
— ™
L} e )
S i ]
y =
ASIRI YUK SiviC
OVER LOAD SWITCH FLEXBIL TAKOZU / FLEXIBLE WEDGE

PATEN PLASTIGI/GUIDE SHOES

KABIN iC GENiSLIK/CAR INTERNAL WIDTH

65 cw 65
=) of
2 : FL
o9 =
e
EkQ
5 é 5] o o
o x
=z=Z !; =
[e] 8 ﬂl 0 0
237 | : R
ga K 2
RAY ARASI
DISTANCE BETWEEN GUIDE
DBG=CIW+130




CSH 2:1 ROPE

CSH 2:1BELT

CSH 1:1 ROPE

uysar:

Elevator & Escalator

KARKAS AGIRLIK/CAR SIING WEIGHT

L
o
o
& lon|N[so|0
[~ gt | [Q|Q
- QN
<3
=
o
)
]
=]
5 B8R
s |||
=
©
m
0
2
— QoD
Y] [ 60(00
NQ N[N
7]
m%
:lolo|o|o
D|D(D(D
ggzﬁgf




uysar:

Elevator & Escalator

Kabin bakim ve montaj kullanim klavuzu EN 13015 standartina gére hazirlanmistir. This
maintenance and installation user manual for elevator car is compliance with EN 13015 standards
and needs to be considered with it.

DIKKAT: her tiirli modifikasyon bu kullanma kilavuzunda agiklanmamistir. Test etmeden 6nce
teknik departmanimiza danisilmasi tavsiye edilir.

Montaj ve kurulum sirasinda verilen talimatlar uygulanmadigi takdirde , UYGAR (retilen
operatorlerin hasar durumunda higbir sorumluluk kabul etmemektedir.

UYGAR bu teknik brostirdeki trtnlerin 6zelliklerini degistirme hakkini sakl tutmaktadir.

ATTENTION: Any type of modification not reflexed in this manual, before testing it sould
benotified to our Techical Department.

UYGAR deslines all responsibility in the case of damages produced in the operator and installation,
if the instructions given have not been followed.

UYGAR reserves the rights to modify the products specifications of this technical brochure without
any previos advise,

ATENCION: Cualgier tipo de modification no reflejada en este manual, antes de
realizarla, debera notificarse a nuestro Departamento Tecnico.

UYGAR deslina toda responsabilidad si en caso de no sequir las instrucciones marcadas, se
producen danos en la puerta o en la instalacion.

UYGAR se reserva el derecho de modificar las especificaciones de los productos de este manual
tecnico sin previo aviso.

ATTENTION: Avant de réaliser toute modification ne figurant pas dans ce manuel; il est
fortement indiquéde consulter Notre département techique.

UYGAR décline toute responsabilité pour tout dommage effectué a la oorte ou a linstallation de
celle-ci ou de ces composants en cas de non suivi des instructions notés dans ce manuel.

UYGAR se réserve le droit de modifier les spécificites des produits de ¢ manuel technique sans
avis prealable.

ACHTUNG: Sollten Abweichungen von den hier beschriebenen Parametern notwendig
sein, bitte diese nicht durchfilhren ehe Sie mit dem technischen Biiro der Fa. Tecnolama
Riickspache gehalten haben.

UYGAR weist jegliche Verantwortung und Haftung zuriick, sollte nicht gemaB der vorliegenden
Montage und Einstelanleitung verfahren worden sein.

UYGAR behdlt sich das Recht vor, Producte sowie deren Beschreibungen ohne vorherige
Ankiindigung abzuandern.

ATTENZIONE: Qualsiasimodifica, non riportata in questo manuale, dovra eserse
notificata al nostro Ufficio Tecnico, prima della suarealizzazione.

UYGAR declina ogni responsabilitd qualora non venissero rispettate le istruzioni segnalate, e
queste provochino danni alla porta o all'impianto.

UYGAR si riserva il diritto di modificare le specifiche dei prodotti di questo manuale tecnico senza
preawviso. ,

ATENCAO: Qualquer tipo de modificagdo ndo citida netse manual, antes de realiza-la,
devera ser informado a nosso departamento técnico.

UYGAR deslina toda responsabilidade se em caso de ndao segimento das instrugles citadas, se
prodzirem danos na porta e na instalagdo.

UYGAR, se reserva o direito de modificar as especificagdes dos produtos deste manual sem prévio
aviso.

11

—
| —



